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SECOND YEAR HIGHER SECONDARY MODEL EXAMINATION, 
FEBRUARY 2019 

Part- III 
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING 

Maximum : 60 Scores 

General Instructions to Candidates: 

Time : 2. Hours 
Cool-off Time : 1 S Minutes 

• There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others during 

the 'cool off time'. 
• Use the 'Cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• l¥he11 you select a question, all the sub-questions must be answered from the same 

question itself. 
• Calculations,figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the 

Examination Hall. 
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• ~o CJ2.IOC3J61Sl3cil>c86>6o ~(m)COo O(D'fJClJl61Tlo. 

• 63'°6 CJJ2.IOC3Jmcruco 1mo1m6>m'f6cmocro 6)(1S)<06)6Tffl>S6CimD6 cib'il6Tffl>o«f6 ~<La.J:>0J6M3~0 mroaan 
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• ((11'0<1.JOOJ~ cruDeJ<ffl> m>CllOJOdbJ6lll300 6)c8J0Sl,c86>6mo. 
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PART-A 
ACCOUNTANCY 

Score 

Answer all questions from 1 to 5. Each 

carries 1 score. (Sxt=S) 

1. Which of the following is not a not for 

profit organisation ? 

a) College 

b) Sports Club 

c) Maruthi Udyog Ltd. 

d) Hospital 

2. The loss or gain on account of revaluation 

at the time of retirement of a partner is 

shared by 

a) remaining partners 

b) retiring partner 

c) all partners 

d) new partner 

3. Under fixed capital method, profit will 

be credited to 

a) Capital Account 

b) Drawings Account 

c) Current Account 

d) Profit and Loss Account 

4. Jn the absence of an agreement, any 
loan advanced by the partner to the 
finn is allowed an interest at the rate of 
___ p.a. 

a) 6% 

c) 12% 

b) 5% 

d) 10% 

Score 

1 ~ca,am 5 C'l.J6)(1) ne)§YO CII.AJOBJABciM>lo fcm>tl>o 

n@lf'lcal~db. 1 Cl<l}?Oi> nnano. (Sxt=S) 

1. @06)'9 @<m1!1Sl'86)6cmm5Jm'& eJOC1i..!ll0coJl~06)® 

l nJ ru «> cmrl1 '86)6 cm <TW) o nJ mo am,~ o cm, cro" 

~@o6Trl'? 

a) acfboa~l!ii 

b) CCJEO«>Sm> ~ml' 

c) mom6®1 ~CBJOro eflmlACU> 

d) <tJr0cn>6o.Jl®I 

2. 63 m 6 nJ 8b o ~1 oJl m m1 '86) 6 cm cru m (DJ cm, .. 

~mro~eJJml<t>~(l)) oa)~'t>6rni' ln.JcfbOm~ 

m~<Smo, <Sm3amo nJBb66)0J<:86)6cmarl' 

a) aCRJ~<:86)6cm nJBbo~e&CJT> 

b) n.llcoml'86)6cm nJBbO~ 

C) ~o nJBbO~e&~o 

d) n.Jl,®l(l)) nJBbO~ 

3. aurllm~~wm~®lm,m6CTU<6l.gJ,~Olio6)~A 
6).!l..J(3~6'fl3® 

a) Q)JeJWm am>'86)"06TB 

b) <ELCWOa»lorom> aM)'86)"06TB 

C) e&O~ CGrrlcOO'U6TB 

d) ~oesm~ CGrrJ<:86)"06fl3 

4. 63©6 ee,coocil6''Vi am,sorucmilm'&, ~6)@flh1~o 

ru o ~ nJ BbO ~1 CTU£l oo.J m (m)1 m" mm'&&!) 1 <l2fl 

~6)6ll'sflh1 m'&, CIDP)(l)Jm5Jm Lo.Jrn51 ru&~o o.Jefl Cll) 

mm'&acfb6Tl'3® CIDP)Gm. ---
a) 6% b) 5% 

c) 12% d) 10% 
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Score 
5. The excess of assets over liabilities in 

non profit organisation is treated as 

a) Capital 

b) Capital Fund 

c) Surplus 

d) Deficit 

Answer any two questions from 6 to 8. 

Each carries 2 score. (2x2=4) 

6. From the following, show the amount 
of subscription to be credited in income 
and Expenditure Account. 

Member subscription received 
during the year Rs. 18,000 

Subscription outstanding on 
closing date Rs. 3,600 

Subscription received in advance 

on closing date Rs. 2,800 

7. Sheeja and Shini are partners sharing 

profit and losses, in the ratio of 4 : 3. 

They admit Bindu as a partner of their 

finn for 2/7 share which she acquires 

equally from Sheeja and Shini. As an 

Accountant of their firm, calculate the 

New ratio and Sacrifice ratio among 

partners. 

Score 
5. ei o ca ti .!2Lt> av1 ~ o 6Hm l nJ OJ cl mm1 c86) A cm 

CTUOOC\Jmcaml cd 6llJOWjaD6Clic86):>ci nuJl 

•~ 4.1" C80 n;pl ce,ci •o6mA6a» oe>cm• 1 cd& 
e90a»cm' n.Jc61ooricec>6cmd' __ _ 

a) Q\leJWmo 

b) Q\leJWCT>n!lft 

c) aSl..g,jo 

d) •am! 

6 a_\at>cdl 8 (U6)tl)(Q)- CI.AJOBc\ABl1al nQ36)Cl)•1&10 --~,m pma,o O(D"A•A•· 2 ai<YJl:»cl nJlcmo. 
(2x2=4) 

6. ffl)06)1f <mmil<6lc86)6cmcmlat& mlcmio mot,•o 
~~ol,cuSl~m ~cd6 ldbC\JJlff 
6>.!l.l~6rti ruc61m>o6lJJa»66>S (D\\6 606m6ce.,. 

C81l)o(J)®Jruc61m>o6l.JJ iQ"O rum~o 

eial..gJmf Rs. 18,000 

aJtOO.Jm>om ~OJcruoru6>CD 6130cm 
m.JO~<lV6ii ruc61cruoQJj Rs. 3,600 

C81l>rucruom slrucruo ll>«l~ooco51 

eitil..gJl~ ru~m.>06llj Rs. 2,800 

7. ~s.iav6on!:ilmlav6o4: 3 ng)cm~nJO<mnmtlm& 

eioCilm~mc! n.J&b66>ruc86)6cm nJ•o&1 

•106Trl'. nm,ruro mllm6n1l6>m cru.oon.Jm<mSl<lffi 

nJ • o ii av o a2fl ln.J a ru u6I ~ c86)6ce., av 6 o 2 / 7 
ttocno fflfij06'lmcm" m>amm>1c86)6ce.,av6o 

6l.!l.J~O'O&-~ nJ&bmllffi& a~cmcm' n!!l-affi 
crllcm6o n!flcrllavlaffi crllcm6o cm6eiJmoavomi'. 

scoi <Ul'Oc&6') 'n 6Tll ~ Cl© cm crll eJ ir' n.J •o §I 

·~6)S ~cmlav caTD~n..JOaDO,.Q,o, <mJOOOCfflS16>~ 

m,am6n.Jo<m~o 66ffic&6')0c&6')6ce.,. 
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Score 

8. Give journal entries for the payment 
of realisation expenses of a firm in the 
following circumstances. 

a) When realisation expense is paid by 
a partner on behalf of the firm ? 

h) When realisation expense is paid by 
the firm? 

Answer any three questions from 9 to 12. 
Each carries 3 score. (3x3=9) 

9. Das and Prabha are partners sharing 
profits and losses 5 : 3.Vijay is admitted 
in the firm for l /5 share. He is to bring 
in Rs. 8,000 as his share of goodwill. 
Draft journal entries 

a) When the amount of goodwill 
retained in the business. 

b) When SO% of the goodwill is 
withdrawn by old partners, 

10. a) Show the following information in 
financial statement of a not for profit 
organisation. 

Details Amount 

One day football 

match expense 

Match Fund 

Donation for football 

match 

Sale of football match 

Ticket 

34,000 

17,000 

10,000 

9,000 

b) What will be the effect, if Match 
expenses go up by Rs. 5,000, other 
things remaining the same ? 

I llllllll lllll llll 11111111111111111 

Score 

8. cm o 61 ':P ~ o cw 6 rm (T\.) o nD .!2.J ro J 6m fil 1 ceft> 

di CW 6)6) eJ Ci cru n!M cm 6) ..!lJ eJ OJ6 c&.i UD m ~ db 1 CW 

mSJ6)~ asi6m<ifo O{j)OOlsl O{j)'£16@6cf:b, 

a) CTUDOnJm•m6aOJ~ oJCOJ6)6'leJ<B(Tt)nS:1® 

6>.!2.JeJOJ6cf:bc.i6 63tt>6 nJ11➔.,ogJcwo6m mffl'tic£t.>Jrm 

6'lcma3-> 1<0'3 

b) CTUD::>n.Jmo cm6'lrm oJcw6)6)eJ<2(Tt)nS:1® 

6'l .!2.J eJ ru6 d:bc.i6 m<0'3d:b6 a: m.J oc.i6 

9 IIIJ<U>CIRI 12 OJ6lCD <l!..!J..108j6ln:1~1<lR> Offi6l<mfB>1eJ6o IIIJmi' 
Oij)61JJRM»1m fRM»CDo o@'-PJ<U>Jdb. J <8<11?0© nJl<mo. 

(JXJ=9) 
9. BO<Tt>6o ln.J@CID6o nJa3->0~<fb§!,o 5 : 3 O{j)<m 

<11m m 6 n.J o cm <lm»1 <0'3 e.i o@ - m ~ 6m3 cJ6 o1l cm o 
6'lruc:006rmruro6m::>61if. I/ 5 @O(l)o m~ 
o.fl SYd co.r 6'l W mill o nJ m mm1 a: e.i c66f l nJ a: OJ (R)1 
~c6€)6(ffi6· rtml(Z"3n00 8,000 (!)Jn.J (Tl)(0'3(2<J:jc6] 

m6~ n.J 11➔., omfl 6)tB-:,O 6'flsJ ru ro6 rm6. <2 ~«>6m<0'3 

O{j)ciolsl cm~oO::>c6€)6cfb. 

a) cru<t&cx~a51m~ ~eJ._\o m.!lrn51mcpJl~ cm6)rm 
ml eJ ml a)(m)J ITT>J,. 

b) 50% nJ"°6rm m>~CB~fo CDJeJJo n.J'fc:cJ 

cw f!hO~c&.ic:l6 n.Jlo't>OJefldM)6 cTnJ. 

1 0. a) ®06l':P~OCW6ITT> rulru<Mmc.i6 ~ e.ioati..!l.t.t><IV1 
~ o 6l cm Ln.J OJ co C'Oml dM'J6 nTl cruo o n.J mcaml 

6l ~ cro o mJ mm1 c&.i l n.J cw o ru m cw1 111& 

c&.>06Trllc:OOJ,c&.>, 

ollmra:>oCA>61n3ci& 

63(0J GlOJ<l1.)6)(m) ~S<J6Yl.lOCJ1> 

Q)(lffi)(t) 6).!2.JeJ(U 

Q)(lffi)(O nfl6YE 

n.OAS<JmJO(J{) marrum<Umlm 

34,000 
17,000 

ffi)o(i::>rum I 0, 000 
~sa6YlJocil> marrumslc96lA 
nllm&<kJm 9,000 

b) marruro 6l.!2.Je.Jnl' 5,000 ~n.J rucbaulc96l6dbCD.16o, 

mrf cB:>OmJ6l>l3cioc&6> moAm1~ oa»l<61cB6l6cB:iav6o 

6)..!lJ~<JmJOOO ommnocn51<6lc&6l6o n.OeJo ? 
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Score 
11. Gouthami, Hridya are equal partners in a 

firm. Their balance sheet as on 31-12-2015 

reveals the following. 

Sundry Creditors Rs. 30,000 

Stock 

Furniture 

Machinery 

Rs. 40,000 

Rs. 5,000 

Rs. 15,000 

To reconstitute the firm they re asses all 

assets and liabilities of the firm. Prepare 

revaluation account, if 

a) Machinery should be increased 

by Rs. 5,000 and furniture be 

appreciated by 20%. 

b) Stock should be reduced by Rs. 3,000. 

c) Creditors be reduced by Rs. 1,000 as 

it is unlikely to be claimed. 

12. Jayan, Kamal and Lal were partners in 

a firm sharing profits and losses in the 

ratio of 3:2:1. The profit of the firm for 

the year ending on March 31, 2016 was 

Rs. 2,00,000. Kamal died on June 30, 

2017 . Calculate his share of profit/loss 

for the period from April 1, 2017 to 

June 30, 2017. Also write Journal entry 
~ 

for the above. 

Score 
11. wrocmm1w6o, n0~BJW60 63m6 <Tlli:l:::>n.Jm 

cm5)6)eJ ®«!,eJJo.JahO~dh~06lT>. 31-12-2015 

-6)eJ m.J:)c:66)1 o.Jl®O 6)n.J~16)<J:lS«!,<Orml,fm@" 

®06)~6)c:66):)5«!,c:66)601)6. 

Sundry Creditors 

Stock 

Furniture 

Machinery 

Rs. 30,000 

Rs. 40,000 

Rs. 5,000 

Rs. 15,000 

CTU!l Oo.J mo n...J6 m : m., oneJ sl <J:f1 c:66)6 nn ®16) ~ 

@ 0 Cl) Ql O m_n <m"O ru ii> n{j) ~ 0 ctr@) OJ;1 dh ~6 o 

6lllOWJ®dhfilO rul~l,O mieiJm1&6™wo 

msrnm6nn6. n...Jl,m& ~eJJ ml&~ <ttr0c:66)"06'rm 

®~000c:66)6dh. 

a) 6)C1ln.9:fl mo1 5,000 m6o._1 dh6n'i ruroat.fl 

c:66)6dhw6o o..a&m~ro 20% dh6'ffi3 ru&B.151 

c:66)6dhCDJ6o 6).!2..J ~ ITT>6. 

b) a~oc:00' 3,000 <t>Jo.J dh6'ffi3 c&JO<ID6nn6. 

C) ~m1 m@n.J~J6)<;8S0m> <TUOWJ®<llfl~p 

mm®lmord& a~o~ 1,000 co6n...J dh6l'l'i 

~OCDJ601)6, 

12. 9.1CDJm>, dhffi~, eJO~ O-(j)<Tt1ln.J<O 63C06 CTUOOo.Jm 

<mm16) eJ n...J a,, 0 ~1 dh ~ 6 o 3 : 2 : 1 0-(j) ITTl 

mrom 6o.JO@<Orm1~ eJO@m~~<.Jo 

n.Ja➔.,66)ruc:66)6nnrum6mo6TT)". 2016 mo&~" 

31 en <ttr00Jm.>Omlc:66)JITT> n.Jffinil6)<m:l CTUOOn.Jm 

~6)~ eJO@o 2,00,000 COJn.JWOmfl<b6ITT>6. 

2017 ~mY> 30 m~~-2017 083(.n.lld 

I fDA®at6 2017 ~mY> 30 ru6>a,cw~ «m><1~n0 

asml~ ei~nllnrllcmo ~db(S)J6o, 

(l'@a»mSlmcllil <ISl61T)at6 O{i)<il>tsl O{i)~6(U\\c8,(DJ6o 

6>.!l.l<ii•• 
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Score 

Answer question No. 13 which carries 

4 score. (1 x4=4) 

13. Sreekala and Sharmina are partners 
with capitals of Rs. 18,00,000 and 
Rs. 13,00,000 respectively. They agree 
to share profits/losses in the ratio of 3 : 2. 
Show how the following transactions 
will be recorded in the Capital Accounts 
of the partners, in case ; the capitals are 
fixed. The books are closed on 
March 31, every year. 

111111111111111111 llll lllll llll llll 
Score 

13-oa)6)(ffl) Cl.QJOG~ni ~ oQ)lfJa»A•· 
4~. (tx4=4) 

13. ®"ka,e,JCOJ6o, dl:l~m<DJ6o n.J~o WlOOLc:8:iQ)O 

18,00,000 <tlJo..JCW6o 13,00,000 <tl4o..JCIV30 

CllJeJWffio ~ru(l)6CD06TT>. cmbOJ(l)66>S e.JO@~ 

~o..JO<mo 3 : 2 ~ <TUD](l) ¥JUXT' ~cmlCD51~ 
O{j)rn36)(T)CDJ06m ®06>'91Jj()(Q)6<Tn 82So.JOS6c:Ehcio 
CllJe.Jwm ~mi <Xeb&l~S6~6dh Clij)cm' 

c:8:>06Trllc&6)Jcfb. ~o ruio~~o moro..gJ' 3 1 m 
6Yl.JJ,c&6)6c£bCit> cmocumxxn1~66Tli. 

Particulars Sreekala Sharmina 
ru1ru<bffl3cit, ~cB,eJ n!lmai1m 
Additional capital contributed 
On 30-6-20 I 7 2,00,000 1,00,000 
Interest on capital 5% 5% 
Drawings 30,000 20,000 
Interest on drawings 1,800 1,200 
Salary 25,000 .......... 

.., Commission 12,000 9,000 
Shareinloss(2017) 50,000 30,000 

Answer any two questions from 14 to 16. 
Each carries 5 score. (2x5=10) 

14 aiJ~ 16 OJ6XO<nl~ ~J~ ~eJcto 
com-i n©6lTJ<ffl>1m ~mo n(i)li6an6•. 5 a~ nncmo. 

(2X5=}0) 14. Mujeeb, Niyan and Omnath are partners 
in a firm. Niyan retires from the firm 
on 1-1-2011. On his date of retirement 
Rs. 75,000 becomes due to him. Mujeeb 
and Omnath promise to pay him the 
amount in instalments at the End 
of every year. Prepare Niyan 's loan 
account in the following case. 

When payment is made in 5 yearly 
instalments plus interest @10% p.a. on 
outstanding balance. 

Hint: while preparing loan account closing 
date can be taken as December 31. 

14. QlJgQ16UJ', m1cwocm, 900 ffiOLO" Clfj)<m1ru<O 

9<tlJ ffil.OO<.Jm~16>e.J <.JIB>0@.1c£➔.>@_06ID.,. 

mlcwocm ffil.OOo...Jmcmml~ ml~o o.llmcilc&6)J<m6 
(I -1 -2 0 I I ) . nfl m m1 c&6)J <m cmi ~ cm1 mil <ef6 
7 5 , 0 0 0 l'nJ<.J <Uro<il!]n.OCim1fl m mro'bcf➔.>OffiJ 61"@. 

O{j)~O nJCOoi!~16)~CDJJo <UroOJCTUOffio 

(l){U)6c&6)@_0C12JI <Uro<il'3n.OCim1flm ffi~cf➔.>OffiJ~ 
®Jcfb 6)cf➔.>0S6c06)06)Q)(TT) ~~6fl.lJO 63::>offiOLDJo 

ruOCOOOffio~Clll-~6on p..JcihO(oo 

mlm,~ aeio6rio ~ri ~~ca,. 

mll,dh ~<m® 6Yl.J~ ml~cm @6dhi}' 
@10%rueflCll> ~ci6>~6>s 5 ruoron!flcB> 
(J)CWl,~. 

m>J.!l-lffl : <:eJ06TT6 ~ ~ 6acruodl> 
ruJlcruo6Yl.Jro 31 (8YOC1Jffi)Offi Glmmomll Clij)56<BcB{) 
6Tls®06TT>. 
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IS. Show the treabnent of the following 

items of a not for profit organisation. 

a) Legacy 

b) Endowmentfund 

c) Sale of assets 

d) Life membership fees 

e) Govt. grant 

16. The goodwill of a firm is to be 

calculated at 3 years purchase of their 

super profit. The capital employed by 

the finn is Rs. l ,00,000 and the nonnal 

rate of return is 10% p.a. the profit and 

loss of the last 5 years were : 

Year Profit/Loss 

20ll 12,000 

2012 18,000 

2013 16,000 

2014 11,000 (loss) 

2015 15,000 

Calculate the amount of goodwill. 

Score 
1 s. SJ o Cl Cl J2tD G»1 • o 6l c& l (\J ru i (11'1)1 c86> 6 cm 

~ ~,mce.,ocoJffdn.nl 

~cmcm' ~ ~·· 

b)~nlld 

C) ~dbi}lQS oll~ 

d) caoslrumocm C8IDoCIXl)J ~ 

e) ~ tcoocfi 

16. ea,A auooa.Jmcom16l~ crodo~i a,~eJJo 

~ (ll)OJ¥>5 m>~~ G~ 

Al~ 3 <mnJ~ ~ 

~eiwmo 1,00,000 "4(\J<J»Ao croowoa,6m 

Ln.Jcmln.ae.i ml~ ln.Jmlru~o I 0% Cl.Qa>06'm. 

caro OJ cru om 6l mm 5 OJ«, n!:I RB@16l e.i e.i o s 

<Tin1RBci6 mx>6l'f~oa»6~· 

rulntlo &r.>ao/fflt'IO 

2011 12,000 

2012 18,000 

2013 16,000 

2014 11,000 (ffin1o) 

2015 15,000 

cru~c61~ ¥JJO ~db. 
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Score Score 
Answer question No. 17 which carries 8 17-oai6Xllm (l.QJOO~m ~ n@'f>JCG>JA. 

score. (1 x8=8) 8 ai~. (1 x8=8) 

17. The following is the Balance sheet of 
Karthik, Pankaj and Ceona sharing 

profits and losses in the ratio of 

40%: 40%: 20% as on 31-3-2018. 

Liabilities 
( 6Tl.lOW j<m) 

Creditors 

Bills payable 

Mrs. Karthik 's Loan 

Capitals: 

Karthik 30,000 

Pankaj 20,000 

Amount 
(<mJ6) 

30,000 

14,000 

10,000 

Ceona I 0,000 60,000 

1,14,000 

The firm dissolved on the date of 

balance sheet. On dissolution the 

following activities may be happened. 

Bills receivable and debtors realised for 

Rs. 15,000 and Rs. 18,000 respectively. 

Stock realised 20% less than the book 

value. Furniture is taken over by Pankaj 

for Rs. 12,000 and land and buildings 

were sold at Rs. 13,000 more than 

the book value. Creditors are paid 

Rs. 27,500 in full settlement. Ceona 
agreed to discharge the liability on bills 
payable. Realisation expense paid by 
Karthik Rs. 6,500. 

You are required to prepare necessary 
Ledger Accounts to dissolve the firm. 

17. 40% : 40% : 20% nffiCTn cmm6nJocmm15larn 
e.io@m~o nJ~6XlJc006cm ~o~ce;: nJebeii, 
m5lawo61T) nffinnlruro66)S 3 1-3-2018 6)e.J 
6TIJOffl o.Jl®£D061T) <m06)15'6)cOOOS6<:006rrn<m. 

Assets Amount 
( <UT0<TJl1) (<mJA) 

Cash at Bank 15,000 

Bills receivable 18,000 

Sundry Debtors 20,000 

Stock in trade 18,000 

Furniture 10,000 

Land and Buildings 25,000 

Profit and Loss 8,000 

1,14,000 

6T)J0~ o.Jl®M6'l~ rnrl~<mlwlarn CTUOOo.Jmo 

('Jk6l~ rus6cm6. n.11~ oJl~cm ~am 
<m06l"9~cxw6cm Lo.Jru&<m1m6mc.io msc006~. 

Bills receivable, Debtors nffimilrucwlarn 

WLOOlcft.>Qlo 15,000 CbJo.J 18,000 CbJo.J 

n@rml6m6)ffi c-Jlrol61'0ffl6 cft.>1§1. <E~OcBb) cmCllil 
6XJA o.lleJCWJ,6)S 20% ~06lm)06m nJk6lmm6 
~§lcwcm'. 12,000 ffiJo.Jc96) nJ!lhgii o..0&6ffil~& 

n{B6)RS6'66)6tm6. @J£IJ1cw6o 6'lc£t.>§lsru6o cmCIDI 

6)~ Q)JeJj(j~O(JZ) 13,000 ~S6®e.J::><!lX)6TT) 

nllRmr Creditors mv 27,500 a>Jo.J m!iJ) 

~os an'lm~. Bills payable 6TlJOWJ® 

mS1<1aro6TT> ~dK)OQCJlcm cruamcmlceqOll, 

R~alisation 6>.!2.leJn.f ~ca; 6,500 ~n.1 

m~dbQ216o Q.!2.l~C'\11· 

cru.oon.J mo n.11 c61~ nJlsicmcmtmoru~Jmoav 
6>eJCWSTacli <8TOc86Y06rfil,c8)00 ~~6. 

SME 50 Accountancy with Computerised Accounting 8/11 



1 \lllllll lllll llll llll lllll llll llll 
PART-B 

COMPUTERISED ACCOUNTING 

Score 

Answer all questions from 1 to 3 . Each 

carries 1 score. (JX1=3) 

1. BS 001-XI business studies. BS 002-XJI 
business studies are examples for 

code. ---
a) Block code 

b) Mnemonic code 

c) Sequential code 

d) Book code 

2. Pick out the odd one. 

a) Peachtree 

h) Daceasy 

c) Gnu khata 

d) Tally 

3. PMT function is used for calculating 

a) Pay roll 

b) Depreciation 

c) Loan repayment instalment 

d) Pivot table 

Answer any three questions from 4 to 7. 
Each carries 2 score. (Jx2=6) 

4. Write short note on the following with 
example. 

a) Entity b) Attributes 

Score 

] ~a,,~ J OJM ~10 CIAIOB.)AB~o ~ 

n©"l<U\!6-~A<> 1 caopnlmo. (3xt=3) 

1. BS 001-XI m.llm51~ ~cru, BS 002-Xll 

mJlm5lm<lM ~ru5lm5' Cl(j)cmlru --­

a<0>0cu5lm ~<3onDm6mmo6ID. 

a) <J6'pd0ce6> <JcfbOCUJ 

b) mlamo6TT5lcfb a<0>0ru5 

C) m5)6)cfb.J(ibctHJ~ <1<8>0CUJ 

d) m.JJcB6) a<0>0ru5 

2. <JOJol§ali' cfb6)6f8(m'U)c!,cfb, 

a) <"Lfln{j)-gJtsfl 

b) cwo~ IJ2"1>mSI 

C) di~ 6lJOCffl> 

d) soeJl 

3. PMT w&OJDo in.Jcaavocnl~cmmf __ _ 
c&.16mcK)OdK')c!,(m nn\momf, 

a) CIOmJim.Jl&T 

b) aanwaiomo 

c) ruoc;ei nn\<61.!ldsnl' cncw6cK>c.io 

d) n.Jlaruo§' asmllc.io 

4 ~a,,cr6 7 nJM CIAIOB.)ABilai ~.;Je.i.lo a,.i6>Cm 

~1oi ~ n{i)lfla,)Adb, 2 ~ nlkmo. 
(JX2=6) 

4. cmo6')'fc;cf"><Wc!,CTn c:8:00Jrn3~ Clm>0<30oOC06mo 

el~dbc!,dlc;H ~OOOcK>6c&. 

a) n©c@Al b) ~tsl6llJJ&§'cru 

SME 50 Accountancy with Computerised Accounting 9/11 



Score 
S. There are different element in a 

Chart /Graph which give more clarity to 

the infonnation. Name any four element 

of a Chart/Graph. 

6. Differentiate between Relative cell 

reference and Absolute cell Reference. 

7. Computerised accounting has several 

merits over Manual accounting. Name 

any four merits of computerised 

accounting. 

Answer any two questions from 8 to 10. 

Each carries 3 score. (2XJ=6) 

8. Match column A with B 

A 

Count IF 

IF 

Concatenate 

B 

Logical function 

Text function 

Statistical function 

9. Describe various components of salary 

and deductions in relation to Payroll 

accounting. Also Write the equation for 

Gross Pay and Net Pay. 

10. Write the procedure for creating a 

database table with the following 

details. 

Employee Name, Sex, Date of birth, 

Basic Pay. 

I llllllll lllll llll 11111111111111111 

Score 
5 . .0.10/o§", tOO::>n!l" O(Drm1ruim'" ruei n.eisd:h 

II O Cl) rn3 fil 6Tll ." <tw ~ 0 6m" o.Jl ru <O 6m cm~" 
n.lJ~<m m~c6>Jt'TI'lmf . .DJO&§, lCl)On!)" ~mil 
OJ CQI J 616 ~ 61 ~ 9:i 1 eJ6 o 4 ne.J 5 db m3 W 6) 6 

Qn.J5)Cl)!i6<m6<tb. 

6. cilaei~ru 6)m.)~o <ttmml'm>eJ~§' 61m.>~o cmaall 
aJJ~ ruJ<mJOm>o ~':P6~6te,. 

7. cru o w :::> m 6111 (!Jl'I) c:00 ro 6Tl'iiJ1 o m1 6) m (!Jl'I) a n..J 

cMil..gJ cB,on..J~mru~~@ cm?>.OO'O~ou5lm 

63<3§6)0 (1)66m6m~60'3". te,oru~§roCW!it>~an 

COTOc00'06TI'ilou516)c{i! O(j36)@EfbleJJo 4 cn66m61!13cib 

O(j)~.!,(m6cfh. 

8 ~<mail } 0 OJ6>CO C3AJOBj6UBi}1af6 06l6l<mllh1~o 

C06'>ml~m ~ nm~~66. 3 ~ nlkmo. 

(2XJ=6) 
8. <B~a>6on.Jsl a~&c006c&. 

A B 
Count IF 

IF 

Concatenate 

Logical function 

Text function 

Statistical function 

9. Pay ro II «rn>c00-n6f1'31 o cn6 ai o<llfl m.i CTU> 61~ 3" 

~m.J~cm516lc{i!cw6o, cai1'91Cl.J.!,~6)Sm>6o ne.JScfh 

ooc.io ne36)(m:)6)c00(W06)6TT)(TI') n] QJ m'lcOO.!,cfh. 

cmoan6aru:::>6)e.J Gross Pay, Net Pay ~ru 

'8,0611):)ffi~ rn.>ll®OJOcfhJO Clij)\96®6c&. 

10. <I006>'9~~cmnllrueb6md& ~~omSI ~ 

CWOAO a6llJcru' asmllcJb i60'30cff)om~ ru"1 

nQ)':P6®6d». 

Employee Name, Sex, Date of birth, 

Basic Pay. 
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I llllllll 11111111111111111111111111 

Score 

Answer question No. 11 which carries 5 
score. (1 xS=S) 

11. Write the procedure for recording 

transactions of Nikitha Traders, 

Emakulam with the help of an Accounting 

Software.(Tally/GNU Khata) 

1-1-2018 Started business with cash 

Score 
11-omG>cm> <l!..a.J:>~j<Um1oi i<Um<t>o o@~A®A•· 

5 QI~ nJlcmo, ( 1 X 5=5) 

11. 63m6 romc00-asr@1ow <Emx>n.0~8"aruro ~n..J<Zm>::> 

u51-9.J(Tally/GNU Khata) mlc£bl(l5) <Elsarw&mJ, 

n@06m::>d➔.l6~o n{i)cm1rum66>s gQSn..J::>s6d➔.lW 

(!(7}6lJ6)<;tjS6<mm::>m~ procedure °ti)'-9J<m6c&.>. 

3-1-2018 Opened SBT Bank Account 

5-1-2018 Purchased goods for cash 

6-1-2018 Cash sales 

Rs. 50,000 

Rs. 10,000 

Rs. 8,000 

Rs.5,000 

Rs.6,000 25-1-2018 Purchased Furniture from Theja 
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